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Within the Von Neumann 
Architecture, what component 
holds the address of the next 
instruction? 

What is meant by the term Cloud 
Computing? 

Which law seeks to protect people’s 
ideas, innovations and intellectual 
property? 

What does SQL stand for and what 
is its purpose? 

What is a run-time error? What is the difference between 
Lossy and Lossless compression? 
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Within the Von Neumann 
Architecture, what component 
holds the address of the next 
instruction? 
 
 

Program Counter 

What is meant by the term Cloud 
Computing? 
 
 
 

Computing services (such as 
storage, applications and media 

services) delivered over the 
internet. 

Which law seeks to protect people’s 
ideas, innovations and intellectual 
property? 
 
 

Copyright Design and Patents Act 
1988 

What does SQL stand for and what 
is its purpose? 
 
 

Structured Query Language 
 

A language used to put data into or 
out of a database. 

What is a run-time error? 
 
 

 
An error which occurs whilst the 

program is running and after it has 
been successfully compiled. 

What is the difference between 
Lossy and Lossless compression? 
 

Lossy compression permanently 
removes data from a file in order to 

reduce its size. 
 

Lossless compression temporarily 
removes data from a file in order to 

reduce its size.  

 


